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1 10A9H AHREBEZILY %5.%% mt—L = 1§!Il_,§ E—i&
2 1089H WHEBR 0.07 — 0.06 -
3 | _10A9H = ESREM 0.06 007 0.06 =
4 | 10A9H 2 KRB 0.06 0.06 0.06 =
5 | _10H9H ﬂﬁ KRBT 0.05 0.06 0.05 =
6 | 108108 = EEREN 0.06 0.06 0.06 =
7 |_10A9H R HEE 0.06 - 0.07 =
8 | _10H9H HRNGREM 0.04 0.06 _ =
9 | 108108 ECCLE 0.08 = 0.08 =
10| _10A3H R XA MRS T 0.06 0.06 0.06 =
11| 1083H 1t BRE ) B 0.05 = 0.05 =
12| 10810 i KRBT 0.07 0.06 0.07 =
13 | 10H3H X —REB 0.07 0.07 = 007
14| 10878 BLEEM 0.07 0.07 0.06 _
15 | 108 7H s LIRS T 0.06 0.05 0.06 0.06
16 | 10R7H 5 A EEm 0.07 0.05 0.05 _
17 | 10878 3 B A HIE S T 0.06 0.06 = 0.06
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2 108 28H WHEBR 0.07 — 0.06 -
3 | 108280 = ESREM 0.06 0.06 0.06 =
4 | 108280 i KRB 0.06 0.06 0.06 =
5 | 108280 ﬂﬁ KRBT 0.05 0.05 0.06 =
6 | 108298 - EEREN 0.07 0.05 0.07 =
7 | 10H288 TRH SRR 0.07 = 0.06 =
8 | 10828H HRNGREM 0.04 007 _ =
9 | 108298 EC LR 0.08 = 0.08 =
10| 108178 A XA MRS T 0.06 0.06 0.05 =
11| 108178 1t BREF) I 1R B T 0.05 = 0.05 =
12 | 108248 i KRBT 0.07 007 0.06 =
13| 108300 X —REBT 0.07 0.08 = 0.06
14| 10818H BLIRE T 0.07 0.07 0.06 =
15| 10818H s LIRS T 0.06 0.06 0.06 0.06
16 | 10818H ] A EEm 007 0.06 0.05 _
17| 10818H 3 BT A HIE S T 0.06 0.06 = 0.06
18| 10818H X MR 0.06 0.07 006 0.06
19| 10818H BEXREN 0.06 0.06 0.06 0.06
20| 1017 | nor | BEBEEAR | 006 0.06 _ Z
21| 108178 PSR 0.07 = 007 007
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23 | 108248 )R B 0.06 0.05 0.08 0.08
24 | 108218 | HE | HEMXESH | 008 = = _

AR TAHE

Nalo o FL—23r R —A~"A A—52—(TCS-172)



